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Match #8


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited.

(b)
Releasing these questions to entities outside your District’s competition is prohibited.

First period: 15 tossups, 10 points each
1.
As it was ongoing, an additional 206,000 troops were requested by Earle Wheeler, then-Chairman of the Joint Chiefs. About a month into it, Walter Cronkite declared, ‘the U.S. was mired in a stalemate.’ A diversionary attack at Khe Sanh was waged, and then on January 30, it began. The lunar New Year of 1968 was marred by what offensive conducted by the Viet Cong and the North Vietnamese Army?

ANSWER: Tet Offensive

2.
In 1990, Eagles singer Don Henley spearheaded efforts to prevent development in the area around this kettlehole made by retreating glaciers 10,000 years ago. It is 61 acres and 1.7 miles around. Frederic Tudor made a fortune as ‘Boston’s Ice King’ by gathering ice when it froze over. What landmark is best known for ‘an experiment in simple living’ conducted by Henry David Thoreau?

ANSWER: Walden Pond

3.
If it is ‘bounded’ there is a limit on the number of items it can store. In the normal version, the front of the line leaves first. In the priority version, each item is weighed and then assigned a spot in line. Name this data structure which operates under the principle of first in first out, much like a line.

ANSWER: Queue
4.
THIS IS A COMPUTATION QUESTION. Three angles in a quadrilateral measure 78 degrees, 106 degrees, and 52 degrees.  What is the degree measure of the fourth angle given that the sum of the four angles is 360 degrees?

ANSWER: 124 degrees
5.
This fictional character married Philip Covington III, adopted a Chinese girl named Patty, and became an architect like her stepfather. She looked like her Great-Aunt Jenny, was insecure about her freckles and glasses, got a locket once from Alice, and invented a boyfriend named George Glass. Eve Plumb played what character whose cry, “Marcia, Marcia, Marcia!” betrayed her status as middle daughter of the Bradys?

ANSWER: Jan Brady

6.
He is the unlikely author of the “American Centennial March.” He was annoyed at the success of his Rienzi (ree-en-tsee), and wrote but one popular comedy, Die Meistersinger von Nürnburg (dee my-ster-sing-er von nyun-berg). “Here Comes the Bride” is the “Bridal Chorus” from his Lohengrin. What composer of Tristan und Isolde (tree-stahn und ee-sohl-deh) and Parsifal is far better known for his Ring cycle?
ANSWER: Richard Wagner (VAHG-nur)

7.
If this goes up by X dollars, the marginal propensity to consume is how much consumption goes up in ‘response.’ If you take housing, food, and transportation costs from it, you get discretionary income. While Democrats point to largely flat wages over the past seven years, Republicans point that this measure of income has gone up. What term describes the amount of income people have after taxes?

ANSWER: disposable income (accept net income and also after tax income before the end of the question)

8.
This concept is responsible for the Bay of Fundy’s high tides and Ella Fitzgerald’s voice being able to break glass. It is often blamed for the Tacoma Narrows bridge collapse.  Name this term that is the tendency of a system to oscillate at a certain frequency that puts the r in the medical technology MRI.

ANSWER: resonance
9.
Until the 1950s, the “literary” form, known as bungo (boon-goh), was used in most writing; the kogo or “oral” form has been used since then. Particles such as “no,” “ni,” “o,” and “wa” indicate a noun’s purpose. It is in a language family with the Ryukyu (ree-you-kyoo) language. The hiragana (hee-rah-gah-nah), katakana (kah-tah-kah-nah) and kanji (kahn-jee) are the ways of writing what Asian language spoken in Tokyo?

ANSWER: Japanese
10.
This company's founder and namesake died in 2003, though it was from a head injury and not obesity and heart problems as rumored.  Famous for a weight loss program that includes Induction and Onging Weight Loss, this is what company which filed for bankruptcy in 2005 and markets a diet plan involving restricted carbohydrate intake?

ANSWER: Atkins Nutritionals

11.
It is a naturally occurring polymer with a base unit chemical formula of C8H13O5N.  This polysaccharide is similar to, but stronger than, cellulose.  Name this hard semitransparent material found in fungi cell walls, cephalopod beaks, and crustacean and insect exoskeletons.

ANSWER: chitin
12.
In the opening scene, he breaks up a fight between two old lords and proclaims, ‘If ever you disturb our streets again / Your lives shall pay the forfeit of the peace.’ In Act III, scene 1, he asks, ‘Benvolio, who began this bloody fray?’ and passes sentence: ‘Let Romeo hence in haste.’ In the last line, he proclaims, ‘For never was a story of more woe / than this of Juliet and her Romeo.’ Who is the ruler in Romeo and Juliet?

ANSWER: Prince Escalus or Prince of Verona (prompt on ‘Prince’)

13.
An alternate route of this road connects Jonesville and Abingdon and is signed ‘The Trail of the Lonesome Pine.’ The stretch between Emporia and Suffolk used to be called the ‘Suicide Strip’ due to its high accident rate. Virginia hopes to widen its entire 500-mile length to four lanes. What longest road in Virginia runs between Lee County and Virginia Beach along Virginia’s entire southern border?

ANSWER: U.S. Route 58
14. 
Kristen Hall left this Georgia trio in early 2007, leaving only Kristian (pronounced: Christian) Bush and the duo's lead singer.  An appearance on CMT’s Crossroads led to a number one country single with Jon Bon Jovi for “Who Says You Can't Go Home.” What Georgia-based duo, fronted by Jennifer Nettles, hit the country charts in 2004 with “Baby Girl” and recently released their second album Enjoy the Ride?

ANSWER: Sugarland
15.
This author of The Evolution of Naval Weapons, a U.S. Navy textbook, also wrote The Day of the Dinosaur, which attempted to give an overview of Mesozoic Era life. Better-known for his science-fiction, his Lest Darkness Fall was one of the first alternative history novels. Who was the author of the Harold Shea series, 15 Conan novels, and the Viagens (vee-ah-zhens) Interplanetarias series?

ANSWER: L(yon) Sprague de Camp
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’

1A.
In what first novel by Chuck Pahlaniuk does the narrator fall in love with Marla, but deals with his alter-ego, Tyler Durden?

ANSWER: Fight Club
1B.
What type of low, thick, layered clouds are also known as fog if they lie close to the ground?

ANSWER: stratus
2A.
What legislation gave Texas $10 million for relinquishing its land claim and included a much more stringent Fugitive Slave Law?

ANSWER: Compromise of 1850
2B.
The United Nations and African Union have been trying to install peacekeepers to help settle a dispute between numerous tribes in what region of western Sudan?

ANSWER: Darfur
3A.
THIS IS A COMPUTATION QUESTION. What is the value of 6 cubed minus 4 cubed?

ANSWER: 152
3B.
The Kpelle are the largest ethnic group in what African country, where most power has been held by descendants of freed Americans and whose capital is Monrovia?

ANSWER: Liberia
4A.
What movie tells the story of Chazz Michael Michaels and Jimmy MacElroy and their attempt to perform the Iron Lotus?

ANSWER: Blades of Glory
4B.
THIS IS A COMPUTATION QUESTION. If Steve Nash makes 90 percent of his free throws, 50 percent of his two-point shots, and 40 percent of his three-point shots, how many points does he score if he shoots 10 free throws, 18 two-point shots, and 15 three-point shots?

ANSWER: 45 points

5A.
A normal human sperm cell contains how many chromosomes?

ANSWER: 23
5B.
What word is either a line segment between two points on a circle’s circumference, or a group of musical notes sounded at the same time?

ANSWER: chord(s)

6A.
Laocoon (lah-oh-coh-awn) and Cassandra warned the people of Troy against what hollow, wooden animal?

ANSWER: Trojan horse
6B.
THIS IS A COMPUTATION QUESTION. What is the sum of the interior angles of a pentagon?

ANSWER: 540 degrees
7A.
THIS IS A COMPUTATION QUESTION. What is the conjugate of the complex product of 6 plus 7i and 5 plus 3i?

ANSWER: 9 minus 53i
7B.
The Rebel, The Fall, and The Plague are all by what French existentialist author of The Stranger?

ANSWER: Albert Camus (kah-moo)

8A.
Write down the following sentence. (Quizmaster: speak slowly) If I were a rich man, I would buy a bigger house. (Quizmaster: speak normally) In what mood is the verb “were”?

ANSWER: subjunctive
8B.
What French biologist was praised by Darwin in The Origin of Species for his belief in evolution, but has been discredited for his theory of adaptation?

ANSWER: Jean-Baptiste (ZHAWN-bap-teest) Lamarck (LAH-mark)

9A.
Who made three voyages on the Endeavour, and was the first European to visit eastern Australia, New Zealand, and the Hawaiian Islands?

ANSWER: (Captain) James Cook
9B.
In the U.S., what crime is committed by people who make false statements on their income tax returns, as well as people who lie under affirmation or oath in court?

ANSWER: perjury
10A.
The term stannous refers to an ion of what element?

ANSWER: tin
10B.
Mescaline is the main psychoactive substance in what artifact of the Native American Church that is a small cactus?

ANSWER: peyote (pay-YOH-tay)
Third period, 15 toss-ups, 10 points each

1.
This church was founded in 1914 at a meeting in Hot Springs, Arkansas, and is the largest church that traces its roots to the Azusa Street Mission. In 1916, this church lost about a quarter of its members when its ‘Oneness’ faction left, and in 1988, a ‘World Fellowship’ was formed. The 16 Fundamental Truths are associated with what church, the world’s largest Pentecostal denomination?

ANSWER: World Assemblies of God Fellowship (accept ‘Assembly of God’)

2.
As a noun, it is a bird that is part of the genus Gallinago (gah-lih-nah-goh). As a verb, it can refer to attacking anonymously, or to very long distance shooting at someone from a concealed location. What word can also refer to a practical joke where the victim is forced to hunt for a non-existent animal?

ANSWER: snipe
3.
This region features a short growing season of less than 60 days, and virtually no deep-root vegetation.  Bogs are often common where water has collected and is not able to seep through the surface due to a layer of permafrost.  What is this biome, located to the polar side of the taiga or above a mountain's treeline and whose name comes from the Finnish for "treeless plain?"

ANSWER: tundra
4.
This speech was successful; its maker was nominated for President on the fifth ballot. The policy advocated in this speech earned the opposition of East Coast interests, as they feared inflation would result from coining silver money at a 16 to 1 ratio to gold. The 1896 Democratic National Convention was electrified by what speech given by William Jennings Bryan?

ANSWER: Cross of Gold
5.
Women underwent a similar ceremony called jigai (jee-guy). Its obligatory form was first observed by Westerners in the Sakai incident of 1868. The voluntary form involved a bath, dressing in white robes, and a favorite meal. A helper, or kaishaku (keye-shah-koo), would behead the person undergoing it after the first cut. What Japanese ritual involves committing suicide by stabbing yourself in the belly?

ANSWER: seppuku or hara-kiri
6.
It was once made by gristmills: the “finer” part became corn flour, the shell became bran, and the coarse part became this stuff, which is now the state food of South Carolina. The yellow type is made with the whole kernel, although the kernels are soaked in lye or water or another alkaline solution to make the white, or hominy, type of what Southern porridge?

ANSWER: (hominy) grits
7.
In quadratics, if it is less than zero, there are two zeros that are complex conjugates; if it equals zero, there is one real zero of multiplicity two; and if it is greater than zero, there are two distinct real zeros.  Name this number that in the quadratic equation equals b squared minus 4ac.

ANSWER: discriminant
8.
Its name is Latin for “thread of the warp.”  Monadelphous ones are fused into a single compound structure; didynamous (die-dih-nah-mus) ones occur in two pairs of different length; and exserted ones extend beyond the corolla.  They are commonly found in groups of six inside a perianth around the pistil.  Name this male flower organ consisting of a filament and an anther.

ANSWER: stamen
9.
A group led by Jenner breaks off its main body, but they are all found dead in a hardware store. The majority want to stop stealing from humans and try to move out to Thorn Valley. They acquired human-level intelligence after being captured by government scientists, and are led by Nicodemus. R-T, Margaret, Racso, and Mrs. Frisby the field mouse all associated with what group of super-intelligent rodents?

ANSWER: the Rats of NIMH
10.
In 2006, a Supreme Court decision held that the bankruptcy clause of Article I can overrule the rights it gives states; precedent held that Congress enforcing the 14th Amendment can overrule it. It superceded the Supreme Court’s decision in Chisholm v. Georgia, and doesn’t apply if the state agrees to be sued. What Amendment prevents federal courts from hearing cases between states and non-citizens of that state?

ANSWER: Eleventh Amendment to the Constitution

11.
Rosicrucians believe its approach will mean the blending of science and religion, as well as an era of universal brotherhood. Some New Age thinkers see rising sea levels as evidence of its “water bearer” aspect. But no one’s sure when it will begin: years ranging from AD 2062 to AD 2654 are given for its start. “Peace will guide the planets,” according to the band The Fifth Dimension, in what astrological Age?

ANSWER: Age of Aquarius
12.
Types of them include conformational, configurational, geometric, optical, and structural.  Butane has two of them, decane has 75 of them, and C30H62 has over 400 million of them.  Cyanic acid and fulminic acid were the first discovered pair of these.  Name this term for molecules with the same chemical formula but different structural formulas.

ANSWER: isomer(s)

13.
Discovered in 1902, it has no antibodies present but has both major types of antigens.  Five percent of Americans have it.  A person with type O blood cannot have a child with this blood type and a person of this blood type cannot have a child with type O blood.  Name this type of blood known as the universal recipient.

ANSWER: type AB blood

14.
T.S. Eliot said this man’s biography of Charles Dickens was the best book on the subject. C.S. Lewis said, ‘the very best popular apologetic I know,’ of his The Everlasting Man. He also wrote Heretics and Orthodoxy. What British writer is best-known for his novels The Napoleon of Notting Hill and The Man Who Was Thursday and for his detective works about Father Brown?

ANSWER: G(ilbert) K(eith) Chesterton
15.
During the General Strike of 1926, he advocated machine-gunning the striking miners. He was left out of the National Government of 1931 after he oversaw Britain’s return to the gold standard, despite being warned it would cause a depression. He lost office in World War I for ‘masterminding’ the disaster at Gallipoli. In 1945, Clement Attlee defeated what man who had just won World War II as British Prime Minister?

ANSWER: Winston Churchill
Spare questions

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.)

1.
THIS IS A COMPUTATION QUESTION. What is 868 in Roman numerals, given that D equals 500, C equals 100, L equals 50, X equals 10, V equals 5, and I equals 1?

ANSWER: DCCCLXVIII
2.
The oldest one known is 20,000 years old and was found in Poland’s Carpathian Mountains. Some were not meant to be thrown at all, but were used in hand-to-hand combat. Others were heavier and meant to knock the target animal off its feet, and most notably did not return to the thrower. What are these implements most associated with Australian Aborigines?

ANSWER: boomerang
3.
They may be translucent due to the Tyndall effect.  Examples of them include emulsions such as milk, sols such as blood, foams such as whipped cream, liquid aerosols such as fog, solid aerosols such as smoke, solid foams such as pumice, gels such as cheese, and solid sols such as ruby glass.  Name this term for a homogenous mixture that has a dispersed phase and a continuous phase.

ANSWER: colloid
4.
This fictional character was originally the ‘Queen’ of Whitsunday festivities and not anyone’s lover. Originally, she was called ‘Clorinda’ and was a helpless highborn lady. Some modern adapters have made her a crack archer and woodsman. One 16th century writer based her on Matilda Fitzwalter, the daughter of a man exiled for trying to assassinate King John. Who is this lover of Robin Hood?

ANSWER: Maid Marian
5.
Supposedly, his last painting was Wheat Field with Crows. He painted the place he was lodging at in his The Night Café. In 1987, a record price was paid for his Irises. He deliberately selected ugly models for The Potato Eaters. His masterpiece could well be The Starry Night. What artist, after his friendship with Paul Gauguin (goh-gan) ended, cut off his left ear?

ANSWER: Vincent van Gogh
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